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o U Tq F A G F 3T FT-0T § JET T 8 T 97 40 &

Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o ghereff orgar U To FIT-UA T T [rd)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FY 37 @ [@ 98 FrRET #T o [ geT-9A §U 7 e 8, qhEr & I 59
T ig A arar @w el A aEm

Before answering the question, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 73
General Instructions :
(i) @ Jo7 ST &
All questions are compulsory.
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(i) @& TIT Sy FAT-gréaHr H ey

Write correct answer in your answer-book.

[ gftrera |
[ HISTORY ] [ M. M. : 05
1. Liberalism 91 ¥ 'Liber' S ® #1 &7 & ? 1
(A) o (B) Yofters
(C) A= (D) 9HSER
What is the meaning of 'Liber' in the word Liberalism ?
(A) Republic (B) Capitalism
(C) Freedom (D) Socialism
2. ‘59 HE B B, @ aR AT B JFM B O &7, T 9= HE & ? 1
(A) FF A (B) uifcrE
(C) R (D) ¥ & i Tl
"When France Sneezes, the rest of Europe catches cold", who said these
words ?
(A) Duke Metternich (B) Nepolian
(C) Lenin (D) None of these
3. T Telfedl § R AR & Al HiF o1 ? 1
(A) ST THE= (B) SR &
(C) gy HIaR™ T (D) Hew T e
Who was the leader of Guerrilla movement in Gudem's hills ?
(A) Baba Ramchandra (B) Jawaharlal Nehru
(C) Alluri Sitaram Raju (D) Mahatma Gandhi
4. = AT T & AGF ..o 9 ( weTe Tl /Alo Ao i) 1

Author of the book 'Hind Swaraj' is ............... .
(Mahatma Gandhi/B. R. Ambedkar)

5. GoE H T o & ? 1

What is the meaning of calligraphy ?
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[ Tl fosT |
[ POLITICAL SCIENCE ] [ M. M. : 15
6. 1970 3R 1993 &% 77 # SfcstgH = el aR € § dsnee e ? 1
A 2 B) 3
C) 4 (D) 5
How many times the Constitution of Belgium was amended between 1970 and
1993 ?
(A) 2 (B) 3
C) 4 (D) 5
7. A B WG & F HF-H A FIQ SE&T ol S 8 ? 1
(A) =9 (B) wd
(C) st (D) A
Which language is mainly spoken in the Flemish region of Belgium ?
(A) Dutch (B) French
(C) English (D) Spanish
8. JMYFH M= T B dean e alds @ 6 ST © 1
(A) TR & AR o & o™ (B) a1 @i & ¥
(C) fafRm qmifse 998l & o= (D) SUEd

Power can be shared in modern democracies in the following ways :
(A) Among different organs of the government

(B) Among various level

(C) Among different social groups

(D) All of the above

9. AW Higaw # fe it € 1
(A) 2 (B) 3
C) 4 (D) S
How many lists are in the Indian Constitution ?
(A) 2 B) 3
C) 4 (D) 5
10. Il WHE THR & o f6H A & +ff I o ® 7 1
(A) T B (B) IM Y=gd
(C) Yot I (D) %% TR
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Rural local government is also known as by which name ?

(A) State Government (B) Gram Panchayat
(C) Panchayati Raj (D) Central Government
11. ¥R diae gR R el # g gl &t e e ? 1
(A) 20 (B) 22
(C) 21 (D) 19
How many languages are listed in scheduled list by Indian Constitution ?
(A) 20 B) 22
() 21 (D) 19
12. 9 faf & THR 99 & [0 &< @30 B 8, O 39 Hel S © 1
(A) SEHEIHAE (B) @HE
(C) reIah (D) TeuE
When different parties share power to form a government, it is called :
(A) Majoritarianism (B) Federal
(C) Community (D) Coalition
13. 9™ FAE AN & AR 9RG § b T & § 1
(A) 6 B) 7
C) 8 (D) 9
According to Election Commission of India, how many national parties are in
India ?
(A) 6 B) 7
() 8 D) 9
14. R TEE FHUF H @G F9 8 7 1
(A) 1886 (B) 1890
(C) 1885 (D) 1985
When was the Indian National Congress was founded ?
(A) 1886 (B) 1890
(C) 1885 (D) 1985
15. g THOER! qEl & Hed b o P 1
(A)  HisiH (B) et
(C) #HerT e (D) &&
Who was the founder of Bahujan Samajvadi Party ?
(A) Kanshiram (B) Mayawati
(C) Mahatma Gandhi (D) Nehru
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17.

18.

19.

20.

21.

22.
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Sl TR GHTEd FTl 8 1

(A) @ AR M gAE (B) TSI GHI

(C) ARTeATRT &l AT (D) W |l

Democratic Government ensured :

(A) Free and fair election (B) Political equality

(C) Freedom of expression (D) All of the above

T H T TOHICD G Bl e % U USTEBReT HIT Bl 1
(T ST /)

Every political party has to register itself with the ............... .
(Election Commission/Parliament)

e, e AR e TR & 5@ T A 1
Legislature, ................ and .......c.oeeenens are the main parts of the Government.
SEHEHHAE %I URAM 1
Define the majoritarianism.

dergd @ @ ekl s ¢ 1

What is Panchayat Samiti ?

[ e |

[ GEOGRAPHY | [M. M. : 15
Frrtferiad Toal & & fhed -F=iester 1 e FROT AfERT & 7 1
(A) FREE AR I (B) A W M TR
(C) dHoE &R eRamm (D) ¥ AR dAHATg

In which of the following states, the overgrazing is the main cause for land
degradation ?

(A) Jharkhand & Orissa (B) Madhya Pradesh & Rajasthan
(C) Punjab & Haryana (D) Kerala & Tamil Nadu

FHUE A & [T Fod SUHRT el H-dl Bkl © 1
(A) el (B) TeEE

(C) To&™ (D) UEEl

Which soil is most useful for the production of cotton ?

(A) Black (B) Laterite

(C) Desert (D) Mountain
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24.

25.

26.

27.

(6) 5507/(Set
T SRS el MY TR T STAN el fhar T ?

: C)

1

(a) fd (B) e

(C) R&rfg s (D) Tl

Where was the first international earth summit organized ?
(A) Delhi (B) London

(C) Rio de Janeiro (D) Colombo

GRT T TGS B F &I ©

(A) &t (B) &%

(C) == (D) & & P& T
Agriculture of cucumber and watermelon is the example of :
(A) Rabi (B) Kharif

(C) Jayad (D) None of these
fFrfoied B § & UHl B 989 Sff (91X 8 § @ OF a9 H 99 Al § 7
a) T (B) FH

(C) dEad (D) =

Identify from the following crops, which takes almost a year to grow and ripe ?
(A) Wheat (B) Cotton

(C) Rice (D) Sugarcane
fFrfoied & o AEde HEd -9l © 7

(A) = B) ¥

(C) =ma (D) FH & &5 Tl
In the following, which is the commercial crop ?

(A) Tea (B) Wheat

(C) Rice (D) None of these

R # WM TE @ F TE B S 8 7
A) 3 (B) ¥

(C) IR D) ™

Which is the major center of the silk textile industry in India ?
(A) Mumbai (B) Mysore

(C) Amritsar (D) Pune
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28. o HgYT % RO RrHeR sgE e © 1
(A) TH AN (B) TR I&M
(C) fasTell J&m (D) HiH I
Main industry is responsible for water pollution is :
(A) Textile industry (B) Stone industry
(C) Electric industry (D) Cement industry
29. NHAI & 1 &1 & ? 1

(A) FIFS SR THIUSE Sif% 3osar

(B) S Bl3d R i givearn

(C) AIHd Bodibie STeiRer offt gfosan

(D) ¥ & g T

Write the full form of NHAI :

(A) National Highway Association of India
(B) National Highway Authority of India
(C) National Handicraft Authority of India
(D) None of these

30. TN JEAd & O & o 9l | SieH acll ds &1 Faai § 7 1
(A) T TSTER (B) T THR
(C) T TS (D) = TSh
What are the roads connecting the district head quarter to other parts of the
district ?
(A) National Highway (B) State Highway
(C) District Roads (D) Other Roads
31. ucyHiTEH JEM % [T MYRYT Fod A % T4 H oo 1 TN e S B
(StereTEe /ATa)
................ is used by aluminium industry as a basic raw material.
(Bauxite /Copper)
32. AT § GEH R FEGEAR ..o A F yERE B S g (Rt /ioh) 1
The largest number newspapers are published in ................... language.
(Hindi/English)
33. e = F A 9% W AT B (Se/=gm)

In the word Laterite, meaning of 'Later' is ...... .
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34. T P HY Fed § 7 1
What are the Commercial Agriculture ?
35. S I HI IRAMNT HL 1
Define the Public Industry.
[ Srdemre |
[ ECONOMICS ] [ M. M. : 05
36. 5l 39 & f4ohrg & AR & foT0 SrEORTE SR R S § 1
(A) uf e (B) EMERAT &
(C) ate T (D) FH & &5 T
Development of any country can generally be determined by :
(A) Per capita income (B) Literacy rate
(C) Annual income (D) None of these
37. % Y WY G Te H fhew wew A § 7 1
(A) 50-100 (B) 30-50
(C) 02-05 (D) 15-20
How many members are in an ideal self help group ?
(A) 50-100 (B) 30-50
(C) 02-05 (D) 15-20
38. TN N @ANR % fQ wioeHdl a el i seMT Haam o 1
() FriieBeT (B) IgaH
(C) Sa{HTT (D) ST
Removing barriers or restrictions set up by the government is known as :
(A) Privatisation (B) Globalisation
(C) Liberalisation (D) Industrialisation
39. WTO & F1 1 8 ? 1

What is the meaning of WTO ?
(World Trade Organisation/World Transport Organisation)

40. yfy e o e & G F/1 8 7 1
What is the formula to get Per Capita Income ?
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